| SISTEM ME RRESHKITJE - SLIDE SYSTEM |

11993

kg/m 0.614

Jx 3.47cm*
Wx 0.67 cm?
Jy 5.31cm*
Wy 0.50 cm?®

11822

kg/m 0.699

Jx 3.89cm*
Wx 0.78 cm?®
Jy 8.40cm*
Wy 0.73 cm?

12133
kg/m 1.146

Jx  6.27 cm*
Wx 1.26 cm?
Jy 36.35cm*
Wy 2.80 cm?®

12134

kg/m 0.705

Jx 3.22cm*
Wx 0.69 cm?®
Jy 8.78cm*
Wy 0.75 cm?®

11797
kg/m 0.673

Jx 3.30cm*
Wx 0.71 cm?
Jy 7.66cm*
Wy 0.66 cm?®

13174
kg/m 0.783

Jx  3.99 cm*
Wx 0.86 cm?
Jy 13.97 cm®
Wy 1.14 cm?®

11821
kg/m 0.613

Jx 1.22cm*
Wx 0.29 cm?
Jy 6.23cm*
Wy 0.53cm?®
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11823

kg/m 0.657

Jx 3.01cm?
Wx 0.65 cm?
Jy 6.21cm*
Wy 0.52 cm?®

11995

kg/m 0.190
Jx cm*
Wx cm?®
Jy cm*

Wy cm?

12135

kg/m 0.485

Jx 0.72cm*
Wx 0.18 cm?
Jy 4.77 cm*
Wy 0.41 cm?

Seria 11 000

| SISTEM ME HAPJE - OPENING SYSTEM |

11796

kg/m 0.850

Jx  9.20 cm*
Wx 1.64 cm?
Jy 12.64 cm*
Wy 1.11 cm?

11798

kg/m 1.126

Jx 9.01cm*
Wx 1.75 cm?
Jy 30.60 cm®
Wy 2.27 cm?®

11003

kg/m 1.573

Jx 26.48 cm*
Wx 4.26 cm?®
Jy 72.81cm?
Wy 5.17 cm?®
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Seria 11 000

11829 - 89

kg/m 0.914 I - S 3
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Jx 6.13cm
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Jy 16.37 cm*
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11002 13320 . 116 -
kg/m 2.606 kg/m 1.003 EF L v
Jx  115.92 cm* Jx  8.19cm*
Wx 14.03 cm® Wx 1,52 om? o 3! 3
Jy 133.73cm? Jy 4119 cm*
Wy 9.80 cm?® 7 . Wy 2.83 cm?® 7
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11794 i 11989 - 94 -
kg/m 0.747 kg/m 1.190 ’ ’
Jx  0.66 cm* o Jx 971 cm* o ©
Wx 1.25 cm? < Wx 1.89 cm? “H &
Jy 5.93cm* Jy 56.37 cm*
Wy 0.50 cm? Wy 4.01 cm? ) =
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11992 pad 11826 .~ i\h
kg/m 0.773 - kg/m 0.708 - i
Jx 6.71cm* ; Jx 6.10cm* 3 N o
Wx  1.30 cm? Wx 1.09 cm? ~ -
Jy 5.93cm* Jy 6.51cm* ®
Wy 0.53 cm? 3 Wy 0.58 cm? " 1
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kg/m 0.767 - kg/m 0.270 ~19 =
Jx 714 cm* Jx cm? i
Wx 1.40cm? Wx cm? .
Jy 5.66cm* Jy cm* &
Wy 0.50 cm® - X Wy cm? Y
13173 Fi 11988 ~19.4~
kg/m 1.009 . kg/m 0.207 :‘
Jx  10.45 cm? - Jx cm® <
Wx 1.92cm?® Wx cm? N
Jy 22.78 cm* . Jy cm? !
Wy 1.69 cm® - 711 p Wy cm?
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11861

kg/m 0.709

Jx  11.68 cm*
Wx 1.94 cm?®
Jy 11.68 cm*
Wy 0.96 cm?®

11800

kg/m 0.375
Jx cm*
Wx cm?
Jy cm?*
Wy cm?

11824

kg/m 0.242
Jx cm?*
Wx cm?
Jy cm*
Wy cm?

11860
kg/m 0.691

Jx  10.84 cm*
Wx 25.73 cm?
Jy 10.84 cm*
Wy 1.83cm?

11991
kg/m 0.762

Jx 6.22cm*
Wx 1.04 cm?®
Jy 6.06cm*
Wy 0.50 cm?®

4314

kg/m 0.759

Jx 0.36 cm*
Wx 0.10 cm?®
Jy 37.63cm*
Wy 2.52 cm?®

4348
kg/m 0.558

Jx  3.41cm*
Wx 0.60 cm?
Jy 1.83cm*
Wy 0.18 cm?®
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4453

kg/m 0.517

Jx  1.47 cm*
Wx 0.29 cm?
Jy 3.10cm*
Wy 0.29 cm?®

4451
kg/m 0.453

Jx 1.31cm*
Wx 0.29 cm?
Jy 2.04cm*
Wy 0.20 cm?®

4452

kg/m 0.392

Jx 0.70 cm*
Wx 0.15cm?
Jy 212cm*
Wy 0.21 cm?

4350-B
kg/m 1.202

Jx  60.69 cm*
Wx 7.83 cm?®
Jy 60.69 cm*
Wy 4.14cm?®

11994

kg/m 0.303

Jx 1.01cm*
Wx 0.20 cm?
Jy 1.66cm*
Wy 0.15cm?®

11995
kg/m 0.190

Jx 1.01cm*
Wx 0.20 cm?®
Jy 1.66cm*
Wy 0.15 cm?

11996
kg/m 1.714

Jx  32.47 cm?
Wx 7.03 cm?
Jy 32.47 cm?
Wy 7.03 cm?®

104.4

-—

33.5

—- 41.9
- 37
- 333

Seria 11 000

!

31

~ 208 =

75

— 288 =

30



